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Topic 1, Volume A
 

What must be done for a newly created scope to work properly?
 
 
A. Create a gateway list that can be used for the scope. 
B. Create an access list with working credentials for the scope. 
C. Create a credentials list with working credentials for the scope. 
D. Create application templates with working credentials for the scope. 
 

Answer: B

 

 

Which user account is required in the LDAP registry for configuring access to IBM Tivoli
Application Dependency Discovery Manager V7.2, its objects, and its services?
 
 
A. root 
B. cmdbuser 
C. taddmuser 
D. administrator 
 

Answer: D

 

 

What is the documented number of servers IBM Tivoli Application Dependency Discovery
Manager V7.2 can support in a default installation?
 
 
A. 10000 
B. 20000 
C. 30000 
D. 90000 
 

Answer: A
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Which information element is stored within the configuration management database as a
repository for incidents?
 
 
A. Sev 1 
B. Change 
C. Problem 
D. Critical Situation 
 

Answer: C

 

 

What are the minimum CPU and RAM requirements for each IBM Tivoli Application
Dependency Discovery Manager V7.2 server for a small environment?
 
 
A. 2 x 2.0 GHz CPU, 4 GB RAM 
B. 3 x 1.0 GHz CPU, 4 GB RAM 
C. 2 x 2.0 GHz CPU, 2 GB RAM 
D. 1 x 1.0 GHz CPU, 4 GB RAM 
 

Answer: A

 

 

What makes up a discovery profile in IBM Tivoli Application Dependency Discovery
Manager V7.2?
 
 
A. A group of discovery scans. 
B. A group of access lists and scopes. 
C. A group of computer systems and credentials. 
D. A group of sensors and sensor configurations. 
 

Answer: D
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Which components need to be considered during the design phase of an IBM Tivoli
Application Dependency Discovery Manager V7.2 deployment?
 
 
A. Domain Servers 
B. Security Servers 
C. Fail-over Gateways 
D. Domain Controllers 
 

Answer: A

 

 

What is the output of a discovery library adapter?
 
 
A. UML book 
B. IdML book 
C. HTML file 
D. Jython file 
 

Answer: B

 

 

What should be estimated when designing an IBM Tivoli Application Dependency
Discovery Manager V7.2 architecture?
 
 
A. The number of realms involved in the deployment. 
B. The number of computer systems to be discovered. 
C. The number of databases used in the architecture. 
D. The number of routers that are deployed in the network. 
 

Answer: B

 

 

A customer has provided lists of business applications and the names of the servers on
which they run. After comparing them to the scope of work, there are several differences
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between the lists. Which two options resolve the differences? (Choose two.)
 
 
A. Work with the customer to reduce the number of servers associated to a business
application. 
B. Work with the customer to add the unlisted servers associated to a business application
to the scope of work. 
C. Add the unlisted servers associated to a business application to the scope of work and
submit the new scope of work for approval. 
D. Add the unlisted servers associated to a business application to the scope of work and
submit a change request with the customer. 
E. Use the scope of work listing as the baseline to begin work and submit a change request
for the additional servers associated to a business application. 
 

Answer: A,B

 

 

What is required to support a default Level 3 Discovery of application configuration and
host data in IBM Tivoli Application Dependency Discovery Manager V7.2 (TADDM)?
 
 
A. Operating system credentials must be created on each computer system. 
B. Application and operating system credentials must be created for TADDM and added to
the access list. 
C. The optional NMAP tool must be installed and configured on all TADDM domain servers
and on all anchor servers. 
D. A service account must be created on all computer systems that are discovered using
SSH key-based and password-based connections. 
 

Answer: B

 

 

What must be defined to run a default Level 1 Discovery?
 
 
A. Only an access list. 
B. Only a discovery scope. 
C. A discovery scope and an access list. 
D. A discovery scope, an access list, and a schedule. 
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Answer: B

 

 

An anchor server behind a firewall can be used for deploying which three sensors?
(Choose three.)
 
 
A. PixSensor 
B. AsdSensor 
C. SysControlSensor 
D. UtilizationSensor 
E. OptimizationSensor 
F. ZonesGenericSensor 
 

Answer: A,C,F

 

 

Which statement is true regarding IBM Tivoli Application Dependency Discovery Manager
V7.2 anchors on Windows hosts running CYGWIN OpenSSH?
 
 
A. Only Bitvise WinSSHD is supported. 
B. A Windows host cannot be an anchor. 
C. CYGWIN OpenSSH must allow port forwarding. 
D. CYGWIN OpenSSH cannot be allowed to forward ports. 
 

Answer: C

 

 

Which IBM DB2 utility eliminates fragmentation and reclaims space?
 
 
A. REORG 
B. RUNSTATS 
C. STOSPACE 
D. BUFFERPOOL 
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Answer: A

 

 

Rebuilding the indexes and running the dbms_stats package is important for the optimal
performance of which database?
 
 
A. DB2 
B. SQL 
C. Derby 
D. Oracle 
 

Answer: D

 

 

Which two prerequisites must be met before deploying the utilization sensor in Linux and
Solaris? (Choose two.)
 
 
A. The sar command must be available. 
B. The lsof command must be available. 
C. The netstat command must be available. 
D. The utilization metric table must be created with the support script after CMDB creation. 
E. The IBM Tivoli Application Dependency Discovery Manager V7.2 service account should
have SUDO privilege. 
 

Answer: A,C

 

 

Which command can be executed on an IBM Tivoli Application Dependency Discovery
Manager server to verify that WMI has been correctly configured on a Windows gateway
server?
 
 
A. execgw.jy/execgw.bat 
B. execwmi.jy/execwmi.bat 
C. testwmi.jy/testwmi.bat 
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D. wmitest.py/wmitest.bat 
 

Answer: C

 

 

Which command initiates uninstalling IBM Tivoli Application Dependency Discovery
Manager V7.2 from the Proof of Concept server to make it ready for production?
 
 
A. rmdir 
B. uninstall 
C. deinstall 
D. install shield -remove 
 

Answer: B

 

 

What is the basis for the self monitoring tool of IBM Tivoli Application Dependency
Discovery Manager V7.2?
 
 
A. top 
B. WMI 
C. LoopBack interface sensor 
D. IBM Tivoli Monitoring V6.x 
 

Answer: D

 

 

Which data model object types can application templates use to automatically create
business applications?
 
 
A. All AppServer configuration item data model types. 
B. All configuration item types defined in the common data model. 
C. Configuration items discovered through custom server templates. 
D. All ComputerSystem and AppServer configuration item data model types. 
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Answer: C

 

 

Which condition could occur during a discovery if the correct authentication method is not
defined or identified?
 
 
A. The discovery hangs. 
B. User account lockouts. 
C. The discovery completes normally. 
D. Improper configuration information. 
 

Answer: B

 

 

An IBM Tivoli Application Dependency Discovery Manager V7.2 (TADDM) server has been
installed on the network with a static IP address of 10.76.130.42. Which URL is used to
access the web-based TADDM console?
 
 
A. http://10.76.130.42 
B. http://10.76.130.42:9430/ 
C. http://10.76.130.42/Console 
D. http://10.76.130.42:9430/TADDM 
 

Answer: B

 

 

If a customer wants to discover a Microsoft Exchange Server running on a Windows server
using default Level 3 Discovery, which access credentials in the IBM Tivoli Application
Dependency Discovery Manager V7.2 (TADDM) access list will allow discovery of the
Microsoft Exchange Server?
 
 
A. User name and password of an administrator for the Microsoft Exchange Server should
be specified as Access Credentials for a Component Type 'Mail Servers' in the Access List. 
B. Component Type 'Messaging Servers' with Vendor 'Microsoft Exchange Server' when
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